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Je e FLAT AU Y R S PR B A SRk

R Pi 42 35K Request[i], WARFT 558 245 40N 26 BRI AT H0 I

Stepl: @R Request[i]<=Need[i], W% m] Step2; 7 M) H 45,

Step2: WM Request[i]<= Available[i], %% [ Step3; 750N H 45,

Step3: F GL iR M 1 43 T AH G BE U5, A8 ehOAR DG B
Available[i]= Available[i]—Request[i],
Allocation[i]= Allocation[i]+Request[i],
Need[i]=Need[i]—Request[i],

Stepd: RGIMAT L A VER A, Q14 4 0 43 TC ST 5 5 D) ab iy a4 P 4 TG ) T 54 2

RGPRE UK R E A RIS

ARG LA B BRAT 28 AP IR WA Y BT 3-1 R i AR e U R A

Request[i]<= Need[i]?

UEFEPilH 2%

i A AL -
Available[i]=Available[i]-Request][i]
Allocation[i]=Allocation[i]+Request[i]
Need[i]=Need[i]-Request[i]
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Stepl: WE M TAE R & —Work[i]= Available,Finish[i]={alse,
Step2: MHFRRES T HB— W E TR E Rt RE .,

Finish[i] = false,
Need[ 1]< = Work.
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Step3: fRiz BRI B A FEFEHAT T BEUR mT ORI FRAT o B A S8 M DT RE U

Work[i]=Work[i]+ Allocation[i],
Finish[i]=true,

Goto Step2,

Stepd: WUERPIA MR Finish[i]=true, MFRR X RGE L2 BMERRREAL A2,

ARG LA b2 VA A S0 A 20 3R W A 8T 3-2 o B e R R A

Work[i]=Available
Finish[i]=false(i=1.2.---.n)
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Finish[i]=false |1 Need[i]<=Work
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Finish[i]=tru
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Work[i]=Work[i]+Allocation[i] ]

Finish[i]=true
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# include < iostream. h>

int Available[100]; /7] FI 5 IR Al
int Max[50][100]; [/ 5 KT SR A6 B
int Allocation[50][100]; / /53 B 5 B

int Need[50][100]; /1% R B

int Request[50][100];
int Finish[50];

int p[50];

int m, n; [/m AR, n AR
int IsSafe()

{

int i,3,1=0;

int Work[100];

for(i=0;i<n;i++)
Work[i] = Available[i];

for(i=0;i<m;i++)
Finish[i] =0;

for(i=0;i<m;i++)
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cin>> Allocation[i][j];
Need[1][j] =Max[i][j] — Allocation[i][7];
if(Need[1][j]1<0)
{
cout <<"{REAMIE "<<it+1<<" NHERIA R "<<J+ 1 <" DB

W, WEBHmA \n";

}

J——
continue;

}

cout <<"THHTA KA VERAA WA H \n";

for(i=0;i<n;i++)

cin>> Available[i];
IsSafe();
while(1)

{

cout <<"#if AZEHUF IR RS (1 5 1 A#RSH 0, DIZEHE )\n";
cin>>mi;
cout <<"#ij A T2 T 1 3K A 45 BE IR 194t \n";
for(i=0;i<n;i++)
cin>> Request[mi][i];

for(i=0;i<n;i++)

{
if(Request[mi][i]> Need[mi][1i])
{
cout <<"fR%i A I T SR B 1 HEAR 197 K B 1 \n";
return 0;
}
if (Request[mi][i]> Available[i])
{
cout <<"/{R% A IR T K BUB 1 R G A Y B IREL 1 \n";
return 0,
}
}
for(i=0;i<n;i++)
{

Available[i] —= Request[mi][i];
Allocation[mi][i] += Request[mi][i];
Need[mi][i] —= Request[mi][1i];
}
if(IsSafe()) cout <<"[f] & /> ELig>K '\n";
else
{
cout <<"fRIYIHRBLIE L 1 \n";
for(i=0;i<n;it+)
{
Available[i] += Request[mi][i];
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Allocation[mi][i] —= Request[mi][i];
Need[mi][i] += Request[mi][i];

}
for(i=0;i<m;i++)
Finish[i] =0;
char YesOrNo;
cout <<"{RIBFEFF IR A FL D » SR v/Y, B n/N, F#E \n";
while(1)
{
cin >> YesOrNo;
if (YesOrNo == 'y'| | YesOrNo == 'Y'| | YesOrNo == 'n'| | YesOrNo == 'N') break;
else
{
cout <<"IHHE R H A ' \n";

continue;

}
if(YesOrNo == "y'||YesOrNo == 'Y') continue;
else break;
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